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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tl W 3709 Y9 U UX A 37 Fedd: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

[t g 31 £

All the questions are compulsory.

T T T ST Al T8 IR YRl § & ofd |

Write the answer to each question in the given answer-book
only.

S U9 H A T GUS €, 39 9 & I Uk A & g |

For questions having more than one part, the answers to those
parts are to be written together in continuity.

T U % gl d IS ®URR W wdl YRR H T/ IR/
UL & TR &1 997 & T 1 & TE A |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

i) T U U TGOS H auth € — o 3R T

i) @UE ‘S W BET F Y T TAH &

iii) @US ‘A F I 9T €, TAF 9T H G U9 & | WIetedt B KA U
T % Gt I YT T &A HEAT 8 |
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i)  This question paper contains two Parts — A and B.
iij) Part'A'is compulsory for all candidates.

iii) Part 'B' has two portions. Every portion has a set of seven
questions. Candidate can attempt only a set of seven
questions of any one portion.

7. WUg YT =T 3h T U9
A 1-8 1
9-14 2
15-21 4
22 - 23 6
q 24 - 25 1
26 - 27 2
28 - 29 4
30 6
AYAT

24 - 25 1
26 - 27 2
28 - 29 4
30 6

Part Question Nos. Marks per question
A 1-8 1
9-14 2
15-21 4
22 - 23 6
B 24 - 25 1
26 - 27 2
28 - 29 4
30 6

OR

24 - 25 1
26 - 27 2
28 - 29 4
30 6

8. U TE& 22 (WUS-A) TAT 30 (WUS-T) H 3 Tk Tehed € |

There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30
( Part-B ).
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qug - A

PART - A

1. T AR I TH ®H H WERR & — SR -8l g SO
513 | O H W F 9T % A W A T ST F I

TR AR HART ¥ TR F T T U@ AT T AEERT F A A2
IS 3TN o TOMT i T |

Mahesh and Ashok are partners in a firm sharing profits and losses in
the ratio of 5 : 3. Kailash is admitted as a new partner in the firm for

%th share, which he acquires equally from Mahesh and Ashok.

Calculate the new profit sharing ratio of all the partners. 1

2. UH ®H H FA G 1,00,000 o & T W AHNT YA T 10% ANMH & |
Td A9 SN % A A 12,000 o, 32,000 Fo TAT 22,000 To |
3T A & AN o STUR TR ST % Jod i TUHT i 54 |

Total capital of a firm is Rs. 1,00,000. Normal rate of return is 10%
p.a. Last three years profit were Rs. 12,000, Rs. 32,000 and
Rs. 22,000 respectively. Calculate the value of goodwill which is equal
to three times of super-profit. 1

3. O GAYCAIh QT e STEvaE € ?
When is Memorandum Revaluation Account essential ? 1

4. WERR ® GG W U TG & God § g5 & oY T ot 5|

Give an entry for increase in the value of assets on the death of a
partner. 1

5. WERR §RT 14,000 o Igel & o T SH i U |

Realisation expenses for Rs. 14,000 are paid by partners. Give Journal

entry. 1
6. 3T HAM 3T H FT q SREAT A G
Write any two characteristics of Preference share. 1
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7. S T AN ®I W ET @ T T GHSA § 2

What do you understand by issue of private placement of share ? 1

8. 100 To T 5,000, 9% FOTHAT HT 10% WMHIH W THT HAT T ]
I T | BT €1 At S|

5,000, 9% Debentures of Rs. 100 are issued on 10% premium which
will be redeemable at par. Give entry. 1

9. UERRI i@ & A9E d T 9 e ¥q 999 FaTe ¢

i) M- W §2arT i) TTEERT @GS W AT

iii) WERR % FUT T A iv) WERRI &l 3a |

In the absence of partnership deed, specify the rules related to the
following : 2

i) Share of profits and losses ii) Interest on partners' capital

iii) Interest on partners' loan iv) Salary to partners.

10. I 2 VM T EU ST BT F GoaishT bl vl eidl €1

Write any two conditions when valuation of goodwill is necessary. 2

11. T, 3919 T W@ 4 : 3 : 2 % U H AT died gU AERR ¢ | AT ST
TEUT AT & | BTl Godihd 21,600 o TR Hedl el hi TE | TH ol Yahl
T @d gEdHE Rl €1 9 U WH YIS § 5 3 % U H oy Ud g1t
HT ST | A Fafe )

Ram, Shyam and Rahim are partners sharing profit in the ratio of
4 : 3 : 2. Shyam retires and goodwill is valued at Rs. 21,600. No
goodwill appears as yet in the books of the firm. Ram and Rahim will
share profits and losses in ratio of 5 : 3 in future. Give Journal entry.

2
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12. i) 10,000 %o % IAIRI Fl WEER @ 7 & &4

i) 25,000 To F ARRRI Bl 10% FZ HIE H YAH H &1
TH % FgHed W A AT Hi T
i) Debtors of Rs. 10,000 were taken by the partner Ram.

iij)  Creditors of Rs. 25,000 were paid at discount of 10%.

Make Journal entries on the dissolution of a firm. 2
13. 374 UST Bl TIAT | TE T AT G5l § HF TFR 9T & ?

Give the definition of authorised capital. How does it differ from issued

capital ? 2

14. T AHSE 7 100 To Tt 1,000, 12% FOTUH S T9 oI W T HT FHAT

o STehT YT 110% T 10 To o T TSl 390 | T gRT HAT| T
3T 25% T HIH W T AT Hd T4 | IMF hl T ST

Ram Limited redeemed 1,000, 12% debentures of Rs. 100 each which
was issued at par by issuing new equity share of Rs. 10 each at 110%

new share issued at 25% premium. Give entry for redemption. 2
15. A TS T 3: 2% UG H oM9-g17 died §¢ U ®H H QERR ¢ | St Goit

IR 2,00,000 Fo WA 1,00,000 Fo At | A 3R & F WERRI g § I8

e € &%

i) 3 H 4,000 To TR - AT S

i) WISRRI T 37! STl W 10% JMMTh 3 F ST AT SR

iii) & P 22,000 To AMTH HHYA HAT AT |

31 A/, 2012 Tl GHATE §T a9 T IF M 1,50,000 Fo AT| B i ATH-8TT

ERIEEREIGINCEIE
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A and B are partners in a firm sharing profit and loss in the ratio of

3 : 2. Their capitals were Rs. 2,00,000 and Rs. 1,00,000 respectively.

The partnership agreement of A and B provided that

i) A will be allowed a salary of Rs. 4,000 per month

ii)  10% interest on capital will be allowed on partners' capital

iii) Rs. 22,000 annual commission should be allowed to B.

The net profit for the year ending on 31st March, 2012 was

Rs. 1,50,000. Prepare Profit & Loss Appropriation A/c of the firm. 4
16. Of, & T AR 5: 3 : 2 % UG H AT TUSH A §Y WPRR &1 AR

ISit SHERT: 10,000 %o, 13,000 Fo TS 12,000 Fo df| 31 |, 2012 Fi @Al

H T FA P TG TE YT T F 5% TMGH Bl X G Yo W ST Tel oH ]

T €1 T ol GUR & U FHENSH At SISU ud gvelyur ar et o

T |

P, Q and R are partners sharing profit in the ratio of 5 : 3 : 2. Their

capitals were Rs. 10,000, Rs. 13,000 and Rs. 12,000 respectively. On

31st March, 2012 after closing the books it was found that interest on

capital @ 5% per annum was omitted.

Pass Adjustment entry and prepare analytical table. 4
17. U, T 0@ NI TH GH H 3: 2 : 1 % AW H A-81T died gU ABER

€1 QU 31 91, 2012 H FTHRT TeT AT &1 39 T H ®F & o3

M G99 42,000 Fo TAT ATH-BTH @I T ST I 12,000 To & | W &

JAHTT TEUT A W T GaF F ATH-8TH &l ATAET HId & Sl

7 afeeat & 519 |

Suresh, Ramesh and Naresh are partners in a firm sharing profits and

losses in the ratio of 3 : 2 : 1. Suresh retires from the firm on 31st
March, 2012. The Balance Sheet of the firm showed a balance of
General Reserve Rs. 42,000 and Debit balance of Profit and Loss A/c
Rs. 12,000 on the date. On the retirement of Suresh, pass Journal

entries to write off General Reserve and Profit & Loss A/c. 4
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18. YAHWAIHA W Td agel @I H AR 3R 3 70|

Give four differences between Realisation A/c and Revaluation A/c. 4

19. U AHIS 7 T T T IAT o 3790 T &L0T AT

i) U9 ERT YT 200 I S W 50 Fo T 3T 3Gk FRT PTAE FHAT ST
T o

i) TET §RT 91T 300 I S W 60 To U I 3Tk FRT A HaAT T
<RI o

TR 3191 F1 3 %d Tod 100 o WA ST el AT| 3UH 39 | & 350 390
(S99 9 % Tl 3 TE IAW 3% qEA ) FH IO YGd &I H 70 To U I
% PIAF W T i T T AT FY T |

ST I JEIRI H ITAH WET o o Sl T At S|

X Ltd. forfeited the following shares held by the shareholders :

i) 200 shares held by Ram on which Rs. 50 per share was paid by
him

ii) 300 shares held by Mohan on which Rs. 60 per share was paid by
him.

The nominal value of share was Rs. 100 fully called up. 350 shares of
the above ( these including all the shares of Ram and balance of
Mohan ) were reissued by the company as fully paid up on the

payment of Rs. 70 per share.

Pass Journal entries for the above transactions in the books of the

company. 4
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21.

8
A AACE 7 TAIE AHCE F 1,98,000 To e i A WIIRT STHHI

TTAA 12% FOT9ET, 100 Fo Ud FUUT & AT Hed gRT HIAT AT | T 57

Y TE FHOTT o T i qehi B STE¥eh STl ¥ aftedt St 5T S

i) OO T G W TEA HAT T @

i) T P 10% T3 W TET AT TAT &

iii) T P 10% WHIH W THF HAT T & |

Suvidha Ltd. purchased machinery worth Rs. 1,98,000 from Suppliers
Ltd. The payment was made by issue of 12% debentures of
Rs. 100 each. Pass Journal entries for the purchase of machinery and

issue of debentures when —

i) debentures are issued at par

ii) debentures are issued at 10% discount

iii) debentures are issued at 10% premium. 4
T M H TFH AHASE Hl GEIRI | BOA o TEA Hl A T areeds
U

i) TE FHE F 100 Fo AT 1,000, 12% FUTIT ST THECT W1 0d

AT AT ITHT IMT 10% T HIH T HAT 2 |

i) TR TAHIE 7 100 o A 500, 12% FOUT ST 5% 93 W T Hd
T T, ST LT 5% T 7T T |

In the following conditions of X Ltd. pass Journal entries for issue of
debentures : 4

i) X Ltd. issued 1,000, 12% debentures of Rs. 100 each at par.
These debentures are redeemable at 10% premium.

iij) X Ltd. issued 500, 12% debentures of Rs. 100 each at 5%
discount. These debentures are redeemable at 5% premium.
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22.

Liabilities Rs. Assets Rs.
General Reserve 8,000 | Cash in hand 1,500
Bank Overdraft 40,000 | Investment 30,000
Creditors 36,000 | Debtors 57,000
Capital : Furniture 4,000
M Rs. 30,000 Stock 11,500
N Rs. 20,000 50,000 | Building 30,000
1,34,000 1,34,000
SS—30-Accountancy (Supp.) [ Turn over
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TH T4 U UF ®H H §AF U H WERR €1 31 °d, 2012 H IAHT TG

T UHR § :
ag-r <
J|AT Fo T J4at Fo

= T 8,000 | TXTT UHE 1,500
S 3T g TN 40,000 CEDI) 30,000
W 36,000 W 57,000
il REiin 4,000
L 30,000 %o ik 11,500
e 20.000 To 50,000 | Ha+ 30,000
1,34,000 1,34,000

IBMH A B T 6@ W GEER SR

i) SRRl W 10% 9N X | I H0T RS =T ST

i) TR 1 god 25% | HH HAT T

iii) AN T GoF 5,000 o W TGAT S

iv) efrzs,ooomﬁsﬁaﬁmwaim—aqﬁ% T AT S

W FERRT 6 Yo S o SHR W FHE ST Bl SR | YAHodish @,
FIRRT & Sl @I a1 9T a ey |

M and N are partners in the firm in equal profit and loss ratio. On 31st
March, 2012 their Balance Sheet was as follows :

Balance Sheet
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They admit O in the partnership on the following terms :
i) Create provision for Doubtful Debts by 10% on Debtors
iij)  Write down furniture by 25%

iii) Increase the value of Investment by Rs. 5,000

iv) O shall bring Rs. 25,000 as his capital and his share in profit &

loss will be %rd.

The capital of old partners are also to be adjusted accordingly.

Prepare Revalution A/c, Partners' Capital A/c and Balance Sheet. 6

FAYAT / OR

AT A GAT UH BH § WEER & a0 o 3 : 2 F I H N died gu
HEER €1 31 |, 2012 i 39T =51 T+ FhR o :

%lg'l'
R %o gy [aat %o
St T 3,00,000
3IAT  3,00,000 o EED 1,00,000
g 2,00,000 % | 5 05 000 RN 1,50,000
TR 1,00,000 | 5% 1,50,000
FUART &7 agfd T 1,00,000
7,00,000 7,00,000
1 37T, 2012 1 T HT UGS & T T THT TF Al Bl AIRK]

AHETJEN 3T ¢

i) gHI A 9= F 3,50,000 Fo H & AT

i) Y% H THA 90,000 To H HAT AT

iii) TFERI 7 3T I % AYSH T SAIRI I WIHR FX T
T % AN & o Sgell @ e Usi @rer SRy |
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Amit and Sumeet are partners in a firm sharing profit in the ratio
3 :2. On 31st march, 2012 their Balance Sheet was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.
Capital : Building 3,00,000
Amit Rs. 3,00,000 Stock 1,00,000
Sumit Rs. 2,00,000 5,00,000 | Debtors 1,50,000
Creditors 1,00,000 | Bank 1,50,000
Workmen Compensation
fund 1,00,000
7,00,000 7,00,000

The firm dissolves as on 1st April, 2012 and Assets and Liabilities
settled as follows :

i) Amit took over Building at Rs. 3,50,000

ii)  Stock was sold for Rs. 90,000

iii) Creditors accepted Debtors in full settlement of their claim.

Prepare Realisation A/c and Partners' Capital A/c. 6

TR @ TS 7 10 To 20,000 THAT 3T 20% W HIAT T AT & T ToR]
SIRI AT PTAA T&F 4 Fo ATl diF Heai o HULT: AR, s Ua 7oy
AT W 3T €| WHIY ST W T &1 50,000 I F o IET W g
10,000 3TAhT i T T & T T I AT 3 | AT FAr AghT I FATAT
Fe HAT| 3T A 376 400 39 W Hhael SMaeT T & Ferdl | ¥ 19T
JATIT U & T | SR % 31 e FR o | 3% 12 Fo T I W

TET T QAT AT X 5 | STEvIh Sl T afear |

Gourav Ltd. issues a prospectus inviting applications for
20,000 equity shares of Rs. 10 each at 20% premium. The payment is
payable in three instalments of Rs. 4 each on Application, Allotment
and First Call respectively. Premium is called on Allotment.

Applications are received for 50,000 shares. Application money for
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24.

25.

26.

12
10,000 shares are refunded with regret letter to applicant. Allotment
was made as pro-rata to all the balance applicants. Amar paid only
Application money on allotted 400 shares. Balance money were
received on due date. Amar's shares were forfeited. These shares were

reissued to Tarun @ Rs. 12 per share. Pass necessary Journal entries.

6
Qqueg -

PART - B
QUG ‘' I AN €, AP AT H G U9 ¢ | Tt Bl Hd Uh 9T & g

I TAT i & BT € |

Part 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only one set of seven questions of any one

portion.
TR-IHE Tal T 37 Ty |

Explain the meaning of non-cash items. 1

TRl shATeT | 3T T gHed € 2

What do you understand by financing activities ? 1
T T GOSN ¥ A6l W 9dl Ue 916l J1 gl ol TUMET i ST

=] STt 5:2

PTGt 1,20,000 o

From the given information calculate Current Assets and Current
Liabilities : 2

Current Ratio 5:2

Working Capital Rs. 1,20,000.
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27. UHE YdE 0T Ud 3T JeR0] § R T GU |

Write the difference between Cash Flow Statement and Income

Statement. 2

28. T H I T YIS ¥ UH FHA ht G TAS KA ¥ Ahe TATE i UM
I ST ¢

2011 2012

(¥o) (¥o)
=d 2,30,000 1,80,000
o 1,80,000 2,30,000
I 2,00,000 1,80,000
A 3,60,000 3,20,000
TR (et 42,000 4,92,000
10% o 74T 4,00,000 3,60,000

AT WX B %o 40,000.

From the given information calculate cash flow from investing

activities of a company : 4

2011 2012
(Rs.) (Rs.)

Goodwill 2,30,000 1,80,000

Patent 1,80,000 2,30,000

Building 2,00,000 1,80,000

Plant 3,60,000 3,20,000

Furniture (Gross) 42,000 4,92,000

10% Investments 4,00,000 3,60,000

Depreciation on Plant Rs. 40,000.
SS—30-Accountancy (Supp.) [ Turn over
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29. TR AWCE H THA G G ¢ ¢

%o
80,000, 9% YAl ¥R 37T 10 To U 3 8,00,000
50,000 GHAT 337 10 o T 3T 5,00,000
Eepplciic Koy 2,00,000
15,00,000
A qTE I -

i)  50% 3TIHT % U¥E IH AN 2,50,000 Fo
i)  GEAT 379 W 10% T

i) GECAT 3 FH AR GoF 40 Fo T q 30
U ht ST AT 3 & AT

a) Ud 3 A

b) T ST AT

c) oI 3T U |

Following are the information of X Ltd. :

Rs.
80,000, 9% preference shares of Rs. 10 each 8,00,000
50,000 equity shares of Rs. 10 each 5,00,000
Reserve & Surplus 2,00,000

15,00,000
Additional information :
i) Rs. 2,50,000 is Net Profit after income tax @ 50%
ii) Dividends on equity shares is 10%
iii) Market price of equity shares is Rs. 40 per share
Calculate for equity shares :
a) Earning per share
b) Dividend per share
c) Price carrying ratio.

30. ORI SFERUN § ST TN WHEN & ? U I i ololwlﬁ?alqwchTTﬁa»‘\r

EGIE

What do you understand by Financial Statements ? What are the

essential qualities of a good financial statement ? 6
Y41 / OR

qEICHS TgT FT & 2 THeh! U TTT i THEET |

What is comparative Balance Sheet ? Explain its utility. 6
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25.

26.

27.

28.

29.

30.

15

JUET / OR
AIS & E T I T EU|

Write any two elements of AIS.

T SR B TIHT YT i T |

Define Data Dictionary.

HTRIIFT T@IH o T AT § 2

What are the advantages of computerised accounting ?

O @i @ PRI Tiaish- JUTell § 3T iy |

Differentiate = between manual accounting and
accounting.

DML & DCL Sl Ue 38R0 | & a0 i <74 |

Explain DML and DCL with one example.

TS T BISIME & T FATRU |

Explain the benefits of electronic spreadsheet.

a)  MS-Excel H U& I1C I & RO AET|

b) TH 291 'Student' % G5 & F 9 =T T |

a) Write the steps of creating a chart in MS-Excel.

b) Write various steps to create a table 'Student'.

SS—30-Accountancy (Supp.)
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